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1. You are provided with specimen R which is freshly killed.

describe

(@)  Observe the head of the specimen from the dorsal side and i 1

three external features on the head.
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(b)  Pin specimen R ventral side uppermost. Cut the masseter muscles and

open the mouth wide. Pull the tongue forward and displace it to the
left side of the specimen.

()  Draw and label structures in the buccal cavi i
' which
for physical break down of food into & alleiyparticle Sal.re used

(7% marks)
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(ii)  State how any three features observed in the mouth are suited
for the diet of the animal. (04 marks)
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(iii) Observe the mouth of the specimen and write down its denta

formula. (01 mark)
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i i i i to expose structures
Dissect specimen R further by cutting the rib cage
in the thorax and base of the.neck. Clear away the thymus gland and

deflect the heart and left lung to the right of the specimen.
in the

Draw and'label the circulatory and respiratory systems with il
thoracic and the lower neck regions. )

()

Adrawcng .fh‘ok.‘»\/c',ﬂ(j'f’l\e CCr Cftatsr ardr-e;f,irado-nj S YRS
wMoMMr.cca(_ ed lower ne ¢k u’%, /

J‘F—e (Conom 2

0

v ‘
| LS \/ I

! Arevthee ~ )
j : e-rereallu g ve s’
| | C vex
R P ] ephalic ven
- (ght Covnrno _ %ﬁrﬁr nal Juguar ve )

Carot <l O\IRI“j

Fef+—sib clavia h‘/\ ‘

INnNom NGa-te

ﬁ\orfhca\r(‘h/l ; 'ﬁ%ﬁ‘l“/f\hq |
| (DOFJqL) ﬁ-u,—s-;_q/\
\ L = (V2r Copta ( ve k7
onchug,
78 ) Bk W i,
v ’Pungmw ovse 7 3
/Z lr /,_’\“/ S bas Uv*ﬁfj
f‘r:aa’\ 1 / A Ve Costa) “OVW
M
—O "
OH,Ln = I posreor wena airg |
rD__.D%l{-_ Ad'—— '
3, K=Y
L0
2)
/

e

Loy Vf-tf’//_r\ligc (mum/ed\;:
fob clavion peip) |

o Cevoh d ovs
RO VR AG Cquy
et fun Clontan N
Ar




You are provided with specimen P and sucrose solutions of different
concentrations labelled A, B, C, D and E. You are to carry out tests on the

specimen using the solutions. (5
Label 5 petri dishes as- A, B, C, D and E and put 10 cm? of the

corresponding solution in each. Cut two pieces of stem
measuring 3 ¢m long preferably from the same internode or from internodes

next to each other. Cut each piece longitudinally into four e
piece into each petri dish containing the sucrose solutions and leave for

40 minutes.
Meanwhile, peel off strips of lower epidermis from the leaf of specimen P.
Put a strip in each of the petri dishes containing the solutions
E, and leave for 10 minutes.

After 10 minutes mount the epidermal strip from each so
onto a slide in a drop of its corresponding solution and view under medium
ower of a microscope. Count 20 purple coloured cells, and count the

number of cells that are plasmolysed out of the 20 cells.

@ (@ Compute the percentage of plasmolysis
solution and enter the results in Table 1.

from specimen P, eac

qual pieces. Put 2

A,B,C,D and

lution one at a time,

for the strips from each

h

Table 1 (7% marks)
& Number of Percentage of
Sucrose solution .
plasmolysed cells plasmoysis
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(i)  Plot a graph to show the relatiqnship between perce
plasmolysis with sucrose solutions.

ntage

(7% marks)
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(iii) On your graph mark point X to show the solution with the

concentration that would have 50% plasmolysis.
6

(01 mark)




(b)  After 40 minutes observe the pieces of stem of P from the solutions in
the petri dishes. Draw the shape of each piece in Table 2 and on each
drawing, label the outer surface of the piece.

Table 2 - (05 marks)
Piece of stem from :
 Solution Shape of stem after 40 mmutes
pderm Ut / i

: oS s or s S

A
B @/

i g

E

- put e Phasis o diceuhine v} 4@\61*‘3 Jcrvedae Lut (g nae
e eHant ' \ ~ 2
- Arerd mevis o epdy Myl (abelled ot Ceattonce .

—pwed U Corter [ ta ne~ ot (r faleofed
7 Turn Over




i

(¢)  From your results;

suggest the solu ncentration nearest to that of the
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b 1l sa;: (t)f spci;ir:lcn P. Explain your answer. (3% marks)
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arrange the sucrose solutions starting with the most :
concentrated. Explain your answer. L (5% marks)
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You are provided with specimens K, L, M, N and O which are plant organs.
(a)  State the phylum of the plants from which the specimens were

obtained. : A g arpermo F"‘J"“\ (01 maCV
Tiashesphyta | fag RSP A PP [S}?Qfmﬁ'fv{?hd‘t*»/ .....
(b) (i) Examine the flowers or florets of each specimen, and state

three structural descriptive features as indicated in Table 3.
Table 3

(7% marks)
Flowers or :
florets of Symmetry Corolla Calyx
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(if)  For each specimen, name the outermost part of the flower or BTy,
floret and give one descriptive feature of it. (05 marks)
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a dichotomous key to identify the

(¢)  Using the features in (b), construct (06 marks)
“specimens K, L, M, N and O. A e W Novel ©
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(d) (i) Whatis the structural limitation for the mode of pollination for

florets of specimens K, L, M and N? (1% marks)
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(i)  What is the structural advantage of specimen O to i
pollination? p; n O to its 11(1(())1de of 5
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(iif) How has specimen N overcome the limitation in (d)(i)?
(01 mark)
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(e)  Obtain a floret from specimen M and cut it longitudinally.
(1)  Draw one half of the floret and label the essential parts.
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(ii) How is the floret of specimen M adapted to its type of
pollination? (01 mark)
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